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DIPLOMA IN EARLY CHILDHOOD 

CARE AND EDUCATION (DECE)  

Term-End Examination 

June, 2025 

DECE-1 : ORGANIZING CHILDCARE  

SERVICES  

Time : 3 Hours  Maximum Marks : 100 

Note : Question No. 1 is compulsory. Answer 

any other four questions. 

1. (a) The following is a schedule of activities 

developed for three days by a preschool 

educator for a group of four-year-old 

children. With reference to the 

principles of planning schedules, 

critically analyze whether the schedule 
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is appropriate for children. Give 

detailed justification for your answer : 

15 

Time Monday Tuesday Wednesday 

9 

a.m. 

to 

9:30 

a.m. 

Children arrive, welcome, prayer 

9:30 

a.m. 

to 10 

a.m. 

Yoga and easy 

exercises 

Yoga and 

easy 

exercises 

Yoga and 

easy 

exercises 

10 

a.m. 

to 

10:30 

a.m. 

Outdoor play Outdoor 

play 

Outdoor 

play 

10:30 

a.m. 

to 11 

a.m. 

Nature walk 

in 

neighbourhood 

park 

Nature 

walk in 

terrace 

garden of 

the 

school 

Nature walk 

in 

playground 

of the school 
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11 

a.m. 

to 

11:30 

a.m. 

Snack Break 

11:30 

a.m. 

to 12 

noon 

Indoor free 

play blocks, 

jigsaw 

puzzles, toys 

Indoor 

free play 

blocks, 

jigsaw 

puzzles, 

toys 

Indoor free 

play blocks, 

jigsaw 

puzzles, toys 

12 

noon 

to 

12:30 

p.m. 

Good Bye 

(b) With respect to each of the following 

play activities for children, state the 

domain of development which is 

primarily fostered through the play 
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activity. The first activity has been done 

for you as an example : 5 

Activity 

        Domain of Development 

                       Fostered through the Activity 

Putting beads Fine Motor  

in a string Development 

(i) Listening to a story 

(ii) Sorting (grouping) cards of 

different sizes 

(iii) Playing together in a group 

(iv) Painting 

(v) Making objects with clay 

2. (a) Explain the term ‘cognition’. 5 
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(b) Explain any two of the following 

features of the preschooler’s  

thinking, giving examples to clarify 

your answer : 15 

(i) Taking another’s perspective 

(ii) Conservation 

(iii) Animism 

3. (a) Explain, giving examples, five features 

of the family setting and child rearing 

practices that can lead to aggressive 

behaviour in the child. 15 

(b) Explain, what is separation anxiety and 

when does it emerge. 5 

4. (a) State any four language abilities of the 

child of preschool age. 3×4=12 
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(b) State three strategies that you will 

suggest to the parents of a one-year old 

child to foster the child’s language 

development. 8 

5. (a) Suggest an appropriate play activity for 

each of the following : 2×5=10 

(i) Developing fine motor abilities of 

two-year olds 

(ii) Fostering imagination of three-year 

olds 

(b) A preschool educator took her group of 

four-year olds to a visit to the kitchen 

garden. Giving justification, explain in 

which domains will this trip foster 

children’s development. 10 
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6. (a) Discuss any four aspects you will keep 

in mind when evaluating a play activity 

organized by the educator for a group of 

children in the preschool centre. 

Explain the significance of these 

aspects. 16 

(b) Explain any one way of evaluating 

children’s progress in a preschool 

centre.  4 

7. Write notes on any two of the following : 

 2×10=20 

(a) Features of firm and affectionate 

parenting 
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(b) Significance of including story-telling in 

preschool curriculum 

(c) Discovery areas in a playschool center 

(d) Ways of involving parents in activities 

of the child care centre 
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 DECE–1 

izkjfEHkd ckY;koLFkk ns[kHkky ,oa f'k{kk esa 

fMIyksek  

(Mh- bZ- lh- bZ-) 

l=kar ijh{kk  

twu] 2025 

Mh-bZ-lh-bZ-&1 % cky ns[kHkky lsokvksa dk laxBu 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % iz'u la[;k 1 vfuok;Z gSA 'ks"k esa ls pkj iz'u gy 

dhft,A 

1- (d) fuEufyf[kr ,d 'kkykiwoZ f'k{kd }kjk pkj o"khZ; 

cPpksa ds lewg dsz fy, rhu fnuksa dh xfrfof/k;ksa dh 

,d vuqlwph gSA vuqlwph cukus ds fl¼kUrksa ds 

lUnHkZ esa] fo'ys"k.k dhft, fd D;k ;g vuqlwph 
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cPpksa ds fy, mi;qDr gSA vius mÙkj ds fy, foLr`r 

vkSfpR; nhft, % 15 

le; lkseokj eaxyokj cq/kokj 

lqcg 9 

cts ls 

9%30 cts 

rd 

cPpksa dk vkuk] Lokxr rFkk izkFkZuk 

lqcg 9%30 

cts ls 10 

cts rd 

;ksx vkSj vklku 

O;k;ke 

;ksx vkSj 

vklku 

O;k;ke 

;ksx vkSj 

vklku O;k;ke 

lqcg 10 

cts ls 

10%30 cts 

rd 

ckgjh [ksy ckgjh [ksy ckgjh [ksy 

lqcg 

10%30 cts 

ls 11 cts 

rd 

iM+ksl ds ikdZ esa 

Hkze.k djuk 

Ldwy ds 

Vsjsl xkMZu 

(Nr ij cus 

cxhps) esa 

Hkze.k djuk 

Ldwy ds [ksy 

ds eSnku esa 

Hkze.k djuk 
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lqcg 11 

cts ls 

11%30 cts 

rd 

uk'rk czsd 

lqcg 

11%30 cts 

ls nksigj 

12 cts 

rd 

CykWd] ftxlkW 

igsfy;k¡] 

f[kykSuksa ds lkFk 

Hkhrjh eqDr [ksy 

buMksj Ýh 

Iys CykWd] 

ftxlkW 

igsfy;k¡] 

f[kykSuksa ds 

lkFk Hkhrjh 

eqDr [ksy 

buMksj Ýh Iys 

CykWd] ftxlkW 

igsfy;k¡] 

f[kykSuksa ds 

lkFk Hkhrjh 

eqDr [ksy 

nksigj 12 

cts ls 

12%30 cts 

rd 

cPpksa dh okilh 
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 ([k) fuEufyf[kr izR;sd [ksy xfrfof/k ds lEcU/k esa] 

crkb, fd xfrfof/k fodkl ds fdl {ks= dks eq[; 

:i ls c<+kok nsrh gSA igyh xfrfof/k vkids fy, 

,d mnkgj.k ds :i esa dh xbZ gS %  5 

 xfrfof/k 

                                                fodkl dk {ks= 

 xfrfof/k ds ek/;e ls c<+kok           fn;k x;k 

/kkxs esa eksrh Mkyuk 

                   lw{e fØ;kRed fodkl 

(i) dgkuh lquuk 

(ii) vyx&vyx vkdkj ds dkMZ dks Nk¡Vdj 

mudk lewg cukuk 

(iii) lewg esa ,d lkFk [ksyuk 

(iv) isa¥Vx djuk 

(v) xhyh feêh ls oLrq,¡ cukuk 



 [ 13 ] DECE–1 

A–25/DECE–1 P. T. O. 

2- (d) ̂ laKku* 'kCn dh O;k[;k dhft,A 5 

([k) 'kkykiwoZ mez ds cPps dh lksp dh fuEufyf[kr 

fo'ks"krkvksa esa ls fdUgha nks dh O;k[;k dhft, rFkk 

vius mÙkj dks Li"V djus ds fy, mnkgj.k nhft, % 

15 

(i) nwljs ds ifjizs{; dks ns[k ikuk 

(ii) laj{k.k dj ikuk 

(iii) thoRokjksi.k 

3- (d) mnkgj.k nsrs gq, ekrk&firk ds ikyu&iks"k.k ds rjhds 

ds ik¡p igyqvksa dh ppkZ dhft, tks cPps esa 

vkØked O;ogkj dks tUe ns ldrs gSaA 15 

([k) le>kb, fd ^fcNqM+us dk Mj* D;k gS vkSj ;g dc 

mHkjrk gSA 5 

4- (d) 'kkykiwoZ mez ds cPps dh dksbZ pkj Hkk"kkbZ ;ksX;rk,¡ 

crkb,A  3×4=12 
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([k) ,do"khZ; cPps ds ekrk&firk dks cPps ds Hkk"kk 

fodkl dks c<+kok nsus ds fy, vki tks rhu rjhds 

lq>k,¡xs] mUgsa crkb,A 8 

5- (d) fuEufyf[kr esa ls izR;sd ds fy, ,d mi;qDr [ksy 

xfrfof/k lq>kb, % 2×5=10 

(i) nks&o"khZ; cPpksa dh lw{e fØ;kRed {kerkvksa 

dk fodkl djuk 

(ii) rhu&o"khZ; cPpksa dh dYiuk&'kfDr dks c<+kok 

nsuk 

([k) ,d 'kkykiwoZ f'kf{kdk vius pkjo"khZ; cPpksa ds 

lewg dks fdpu xkMZu ds Hkze.k ij ys xbZA vkSfpR; 

nsrs gq,] crkb, fd ;g Hkze.k fdu {ks=ksa esa cPpksa ds 

fodkl dks c<+kok nsxkA 10 
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6- (d) 'kkykiwoZ dsanz esa cPpksa ds lewg ds fy, f'k{kd }kjk 

vk;ksftr [ksy xfrfof/k dk ewY;kadu djrs le; 

vki fdu pkj igyqvksa dks /;ku esa j[ksaxs] ppkZ 

dhft,A vkius ftu igyqvksa dks pquk] muds egRo 

dh ppkZ dhft,A 16 

([k) 'kkykiwoZ dsanz esa cPpksa dh izxfr dk ewY;kadu djus 

dk dksbZ ,d rjhdk crkb,A 4 

7- fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k¡ fyf[k, % 

     2×10=20 

(d) ekrk&firk dk Lusgiw.kZ ,oa n`<+ O;ogkj ds 

ikyu&iks"k.k dh fo'ks"krk,¡ 

([k) 'kkykiwoZ ikB~;Øe esa dgkuh lqukus dh xfrfof/k dk 

egRo 
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(x) 'kkykiwoZ dsUnz esa [kkst ds {ks= 

(?k) cky ns[kHkky dsanz dh xfrfof/k;ksa esa ekrk&firk dks 

'kkfey djus ds rjhds 

× × × × × 

 

 


